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AT THE END OF FIRST SEMESTER (CBCS PATTERN)
DEGREE EXAMINATIONS
MATHEMATICS-I. DIFFERENTIAL EQUATIONS

(COMMON FOR B.A., B.Sc.)
UG PROGRAM (4 YEARS HONORS)
(w.e.f: Admitted Batch 2020-21)
Time : 3 Hours | | Maximum : 75 Marks

SECTION - A

DKSD - D |

Answer any Five questions. Each question carries Five
marks. . ' s - (B3%x5=2)5)
DB B BHHOH SHrEBIN (Fraiin. (H8 (HH 0h
SeByen. ’ |

1. . Solve (x2*4vx3v’v"2y2)dx.+(ﬂy2—4xy—2$cz)dy=0,
(¢ — 43y =2y% )de+ ()" ~ 429 =227 )dy = 0% posna.

. . dy ;_xz
—+42xy=e"" |
2’ SOlVC dx y’.

% +2xy=e % FBosod.

3. Solve (y-xp)(p-1)=p.
(y-xp)(P=1)=p & Fposos,

00 |
170 | [Turn over



@

Solve (D* —4D* +6D* —4D + l)y. =0.
(D*-4D*+6D*-4D+1)y=0 & Fpoisol.
Solve (D2 ~5D+ 6)y ="
< (D2 —-5D + 6)y:= e & FgyoBol.
Solve (Dz-— 3D + 2) y=2x%,
(D*-3D+2)y=2x"% gosol.
Solve (D*+4)y=xsinx.

(D2 + 4) y= x'sinx 30 FBoBoA. |
Solve (x*D? —xD.+_1) y=logx.
. (xzD2 —xb+l)y =logx % JBoS0’.
SECTION - B

Qg - §

- Answer All the questlons Each question carries

Ten marks. . (5%x10=50)
O BHS Srgrisisnes @"cﬁ»«ﬁ» B8 S 36 Srtpen.

a)  Solve y(1+xy)dx+x(-l -x¥)dy=0.

y (1 +- xy) dx + x (1 xy)dy 0% .%t@ofﬁo&
(OR/aSmo) |
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b) SO]VC | dx
x%*’y = y*logx % Jdool.

dy D\ _6y2 =0
0@ Solve xz (?d;) + xy(dx) 0y :
“x2 .C_i-}_/. 2 +xy(_c'.l’:.}.l_)-—6y2 =0% ﬁ"@OéO&
dx dx o

(OR/Sc)
b) Solve yz log y=xpy + p2 .
y'log y=xpy + p* & FHobod.

1. a) Solve (D2 -3D + 2) y=coshx,

(D*-3D+ 2) y=coshx%H FBoSoa.
(OR/8or)

2

b)  Solve C:;—)z)+4y =e¢" +sin2x +cos2x ,
X | |

dzy

o7 +4y =e* +sin2x +cos2x % JHoSoa.
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o .'c.l'.zy, dy. 22 A
12. . a —6-=+13y =8¢’ Sin2x
- 2) Solve PR y 12

A,

d 4 Gdy +13y = 8e3" Sm2x S .—C‘Jv@oéo&.
e  dx |

| 5wy -V(QR/éw)_
b) .'Selv_e.(Dz - 1)y='-'_x2, cosx

(D»2 -1) y=x ces_x‘:éa évéoéo& ‘

-13-. a) Solve (D2+a )y Secax by the method of |
variation of parameters 1% _ |
oac°3))é>e> a’asotig) aéé’é:éab’a&sof\oﬁ) (D a_zz)'y;—-‘S'ec ax :
-263 @‘@oiﬁo& |

(OR/éw")

d2 d
b) Solve'x E’f3x%+5y x? sm(logx)

* ,_,xder y ¥ Sm(l"gx) o 5"55050&
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